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4323

M_.A. (Previous) Examination, 2015

ECONOMICS
Paper-III
(Quantitative Methods)

Time : Three Hours
Maximum Marks : 100

PART-A (@Uve-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.

Toft wv afrard & o WY # OSW 50 I
¥ afiw A7 @ wsft we # ofF wER

PART-B (@vs-49) [Marks : 50
Answer five questions (250 words each), selecting
one question from each unit. All questions carry equal marks.
TR TR ¥ TH-UE WA I g, w7 u
WA RIS & 9T F IW 250 VR ¥ w7 @
wft o # ofF wm f

PART-C (@'&-¥) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.

FE I YT BT TIF TT FT W 300 K
[ ofuw 7 B 9t g B ofF wEE R
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PART-A
(Tue-3r)

1. Answer all the following questions.

= st gl @ S ST

UNIT-1

(Z@r-1)

(i) What is the importance of Differential calculus in
Economics ?

AIE | TOE-FEH H N HE @7

(i) Which method is used to maximise utility under
constraints ?

el & =ela IwEift # sifusae w0 *g R
fafa =1 w@m fFm s 22

UNIT-I1

(FwTd-1I )

(iii) What do you mean by Commutative law in Matrix
Algebra ?
iz dromfg o oy weed frem @ = w2
(iv) What is the use of Integration in Economics ?

FfyTer § TEER # F I9A 27

UNIT-111

(gm0 )
(v) Write the limits of value of Correlation co-efficient.

eI E ® Ied H §m fafau)
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(vi) What do two regression lines depict ?

q Wi W@l @ ahd §

UNIT-IV
(FFE-1V )
(vii) What is Baye's theorem ?
‘¥ = fagm T 2
(viii) Define Probability.
ey & it s

UNIT-V

(yms-V )
(ix) What do you understand by Random sampling ?
¥g freel ¥ o T wwe @2

(x) What do you mean by Hypothesis testing ?
ReFew Wem ¥ s = A #2

PART-B
(ge-v)

UNIT-I

(3=E-1)

2. Differentiate the following :
= #1 sawem wifST .

@ y=logx+D)(x+2).

B y=1+4¢"/2+3¢".
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(© y=

3. Solve the following Linear programming problem :

fr= W gfen e = 5w #if

Minimise (JH ®Y)  C = 06x, + x,

Constraints (Wfra=T) 10x, + 4x, 2 20
5x, + 5x,220
2x, + 6x,2 12

x and x, 2 0.

UNIT-1I

(yaTé-11)

4. Integrate the following :
= 1 FEEen I@ Wit

dx
(@) J.4x2 -9

(b) jx.e'xzdx )

j‘ 6x2 +1 dx
© P er-2
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5. Solve the following with the help of Cramer’s Rule :
#WR fam wt weEw ¥ = @ 7@ wfe

X+2y+3z=14
3x+y+2z=11
2x +3y +z=11.

UNIT-III

(F&E-111)
6. Calculate Karl Pearson's Correlation co-efficient :
Fel feREs &1 9ewE OTE 9 HI
X : 112 114 108 124 145 150 119 125 147 150
Y : 200 190 214 187 170 170 210 190 180 180

7. Given Variance of X = 9 and
Regression equations 8x — 10y + 66 =0
40x — 18y = 214.
Find (a) X and Y.
(b) Correlation between X and Y.
fm? X ®1 5o = 9w
AT FHIRWOT  8x - 10y + 66 =0
40x - 18y = 214.
@ FIW (F) X WY.
(@) XT@ Y& 9 qgq= NI
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UNIT-1V

(FFE-1V )

8. Write a critical note on Normal Distribution.

YA §37 W T& Teraers feoqoft fafign)

9. (a) Distinguish between Dependent and Independent
events.

T TE AfHa frme H i s sy

(b) From a pack of 52 cards, one card is drawn at random.
What is the probability that it is either Ace or a King ?

AT F 52 T F T TR ¥ T T AGDF
QY frewten S 81 TOw TR A1 SR BN W E
it 8?2

UNIT-V

(3&TE-V)

10. Distinguish between Type-I and Type-II errors. Can these
two errors be reduced together ? If yes, how ?

M T8 fgda YR F Ay ¥ o wifsw = 3 3
F TH T fFw S ogEa 22 9 &, @ I
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11.

12.

13.

Define Simple random and Stratified random sampling.
Discuss their merits.

T @ Wia 31 Fre F vt s s ol
ft witen =i

PART-C
(@us-w)

UNIT-1

(3ig-1)

With the help of Matrix, solve the following equations :
feFm 1 weEw A e T W v I
x-2y+3z=1
3x-y+4z=3
2x+y-2z=-1

UNIT-1I

(gwE-11)

Find the profit maximising output and maximum profit if
p= (10 -x)* and AC = 55 - 8x.

T F ATHTH FA A IART q AfHAH A W

Fifeg, afx wEa p = (10 - x)? I ww wm

AC=55-8x @
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14.

15.

UNIT-III

(FTE-1I1)

Obtain two regression equations from the following data.

= wel | 3 TR qHe g St

X g 6 2 10 4 8
Y ; 9 11 5 8 7
UNIT-1V
(FHTE-IV )

Two kinds of manures are applied to 15 plots of one acre,
the other conditions remaining the same. The yields in
quintal are given below :

ManureI :14 20 34 48 32 40 30 44
Manure IT: 31 18 22 28 40 26 45 -

Examine the significance of difference between the mean
yields due to the application of different types of manures.

TH-TF THS & 15 Gl ¥ & THR H @K H 3990 fFa
TN, I W I WHA W Suw (fSEee) ¥ = weR
2

g I: 14 20 34 48 32 40 30 44

'] OI: 31 18 22 28 40 206 45 -

N YFR ®H TR H TN FH | T G ST B 3Aq
H el w1 gheor Ff)
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